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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh lhjht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] 

vU;Fkk ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA 

ÁR;sd Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj 

lgh gSA ftl mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. 
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 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s 

tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus 

gSaA mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 
x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh vksŒ,eŒvkjŒ ‘khV miyC/k djkus ds ckn 
gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 
egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh ì”B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 
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1. Roots of equation ݖଶ + 1 = 0 are :  
(A)   ݅ , −݅ 
(B) 1, ݅ 
(C) 1,−1  
(D) −1, ݅   

2. Real part of ݂(ݖ) = 4 + ݅ is : 
(A)   1 
(B) 4 
(C) 4 + ݅  
(D) ݅ 

ଵݖ .3 +  : ଶതതതതതതതതത is equal toݖ
(A)   ݖଵഥ − ଶഥݖ  
(B) ݖଵഥ + ଶഥݖ  
(C) ݖଵ −   ଶݖ
(D) NOT    

4. Value of √−100 is : 
(A)   10 
(B) -10 
(C) 10݅ 
(D) −10݅ 

5. In Fourier series of ݂(ݔ), coefficients ܽ଴, ܽ௡, ܾ௡ are called : 
(A)   Laplace coefficients 
(B) Fourier coefficients 
(C) Taylor’s coefficients 
(D) Not  

6. If ݂(ݔ) = sin is given in ቂିగ ݔ
ଶ

, గ
ଶ
ቃ, then value of an in Fourier series :  

(A)   0 
(B) 1 
(C) 2 
(D) 3   
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7. Differential equation ଷௗ௬
ௗ௫

+ ଶ
௫ାଵ

ݕ = ௫య

௬మ
 is reduced to linear for transformation :  

(A)   ݕ =  ଷݔ

(B) ݕଶ =  ݐ

(C) ݕଷ =  ݐ

(D) NOT    

8. ∫ sin ௖ାଶగݔ݀ ݔ݊
௖  is : 

(A)   ߨ 

(B) ܿ 

(C) 0  

(D) 2ߨ   

9. If ݂(ݔ) = cos ,݈−] in ݔ ݈] then Fourier coefficient ܾ௡ is :   

(A)   1 

(B) ݈ 

(C) −݈ 

(D) 0   

10. Fourier coefficients ܽ଴, ܽ௡, ܾ௡ are obtained by : 

(A)   Taylor’s Formula  

(B) Maclaurin’s Formula 

(C) Euler’s Formula 

(D) Laplace Formula 

11. ଵ
஽మ

sin  : is equal to ݔ2

(A)   ିଵ
ଶ

sin  ݔ2

(B) ିଵ
ଵ଺

sin  ݔ2

(C) ଵ
ସ

sin  ݔ2

(D) ିଵ
ସ

sin  ݔ2
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12. ଵ
஽ାଵ

݁௫ is :  

(A)   ݁ ௫ 

(B) ଵ
ଶ
݁௫ 

(C) ଵ
ସ
݁௫  

(D) ିଵ
ସ
݁௫   

13. If ݂(ݔ) = ,is periodic in [0 ݔ    : then Fourier coefficient ܽ଴ is [ߨ2

(A)   ܽ ଴ =  ߨ

(B) ܽ଴ =  ߨ2

(C) ܽ଴ = ߨ
2ൗ  

(D) NOT    

14. Modulus value of ݖ = ݔ +  : is ݕ݅

(A)   ඥݔଶ +  ݕ

(B) ඥݔଶ +  ଶݕ

(C) tanିଵ ቀ௬
௫
ቁ  

(D) ඥݔଶ −    ଶݕ

15. Cube roots of unity are :  

(A)   1,ݓ,ݓଶ 

(B) 1,−1, 0 

(C) 1, 1, 1 

(D) Not  

16. Argument value of ݖ = 1 + ݅ is :  

(A)   గ
ଶ
 

(B) గ
ସ
 

(C) 0  

(D) ିగ
ସ
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17. If (ݔ + 5) + ݕ)݅ + 3) = 0 then :  

(A)   ݔ = 5, ݕ = 3 

(B) ݔ = −5, ݕ = 3 

(C) ݔ = 5, ݕ = −3 

(D) ݔ = −5, ݕ = −3 

18. Differential equation (1 + 4xy + 2yଶ)dx + (1 + 4xy + 2xଶ)dy = 0 is :  

(A)   Linear in x  

(B) Linear in y  

(C) Exact ODE  

(D) Homogeneous ODE  

19. Order of ODE ቀௗ௬
ௗ௫
ቁ
ଶ

+ ݕ = 0 is :  

(A)   1 

(B) 2 

(C) Not defined   

(D) -1 

20. Degree of ODE ݊݅ݏ ቀௗ௬
ௗ௫
ቁ = 1 is :  

(A)   1 

(B) 0 

(C) 2  

(D) Does not exist    

21. Maximum rate of increase of scalar point function ߶(ݔ, ,ݕ   : is (ݖ

(A)   ∇߶ 

(B) −|∇߶| 

(C) |∇߶| 

(D) −∇߶   
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22. If ߶(ݔ, ,ݕ (ݖ = ݔ + ,ݔ)߶ then directional derivative of ,ݕ ,ݕ  in the direction of (ݖ

ܽ⃗ = ݅ is : 

(A)   0 

(B) 1  

(C) -1  

(D) ݅   

23. If vሬ⃗ = ሬሬ⃗ݓ × then curl vሬ⃗ ݎ⃗  is : 

(A)   ݓሬሬ⃗  

(B) ݓሬሬ⃗ ×  ݎ⃗

(C) 2ݓሬሬ⃗   

(D) NOT    

24. If ⃗ݎ = ݅ݔ + ݆ݕ +  : is equal to ݎ̅ then curl ݇ݖ

(A)   1 

(B) ⃗ݎ 

(C) 0  

(D) 1   

25. If ߶(ݔ, ,ݕ (ݖ = ݔ + ݕ +   : then gradient of ߶ is ݖ

(A)   ݅ + ݆ + ݇ 

(B) ݅ + ݆ 

(C) ݔ + ݕ +  ݖ

(D) 0 

26. Which of the following is true ?  

(A)   |ݖଵ + |ଶݖ ≥ |ଵݖ| +  |ଶݖ|

(B) |ݖଵ + |ଶݖ = |ଵݖ| +  |ଶݖ|

(C) |ݖଵ + |ଶݖ ≤ |ଵݖ| +   |ଶݖ|

(D) NOT  
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27. If (2ݔ + 2) + ݕ)݅ − 5) = 0 then :  
(A)   ݔ = 1, ݕ = 5 
(B) ݔ = −1, ݕ = −5 
(C) ݔ = 1, ݕ = −5 
(D) ݔ = −1, ݕ = 5   

28. If ݂(ݔ) = sin ݔ cos   : is (ݔ)݂ then ݔ2
(A)   Even function  
(B) Odd function 
(C) Neither even nor odd  
(D) NOT  

29. Infinite series ݂(ݔ) = ௔బ
ଶ

+ ∑  
ஶ

௡ୀଵ
ܽ௡ cos ቀ௡గ௫

௖
ቁ + ∑  

ஶ

௡ୀଵ
ܾ௡ sin ቀ௡గ௫

௖
ቁ is :  

(A)   Fourier series  
(B) Laplace series 
(C) Taylor’s series 
(D) Not  

30. If ݂(ݔ) = cos ,is defined in [−1 ݔ 1] then Fourier coefficient ܾ௡ is :  
(A)   4 
(B) -1 
(C) +1  
(D) 0  

31. Real part of ݂(ݖ) = sin   : is ݖ
(A)   sin ݔ cos  ݕ
(B) sin ݔ cos ℎݕ 
(C) sin ℎݔ cos  ݕ

(D) sin ݔ sin ℎݕ 
32. Euler’s Formula is :  

(A)   ݁ ௜ఏ = cos ߠ + ݅ sin  ߠ
(B) ݁ି௜ఏ = cos ߠ + ݅ sin  ߠ
(C) ݁௜ఏ = 2 cos ߠ + sin  ߠ
(D) ݁ି௜ఏ = cos ߠ − sin  ߠ
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33. A vector which is perpendicular to both vectors ܽ⃗ and ሬܾ⃗  is : 

(A)   หܽ⃗ × ሬܾ⃗ ห 

(B) ܽ⃗ × തܾ 

(C) ห2ܽ⃗ × ሬܾ⃗ ห  

(D) ห ሬܾ⃗ × ܽ⃗ห   

   : is (ݎ)݂∇ .34

(A)   ݂ ᇱ(ݎ) 

(B) ݂ ᇱ(ݎ)∇ݎ 

(C) ݂ ᇱ(ݎ)⃗ݎ  

(D) ௙ᇲ(௥)
௥

   

35. Gradient of |⃗ݎ| is : 

(A)   ௥̅
௥
 

(B) ̅ݎ 

(C) ௥̅
௥మ

  

(D) ݎ  

36. For solenoidal field vector vሬ⃗ , divergence of vሬ⃗  is :  

(A)   Non zero  

(B) Zero  

(C) Never zero  

(D) NOT  

37. ௗ
ௗ௧

(aሬ⃗ × bሬ⃗ ) = 

(A)   aሬ⃗ × ௗୠሬሬ⃗

ௗ௧
+ ௗୟሬ⃗

ௗ௧
× bሬ⃗  

(B) aത × ௗୠഥ

ௗ௧
+ ௗୟሬ⃗

ௗ௧
 bത 

(C) aሬ⃗ × ௗୠሬሬ⃗

ௗ௧
+ bሬ⃗ × ௗୟത

ௗ௧
 

(D) NOT    
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38. Curl of a vector field is : 

(A)   Scalar  

(B) Vector  

(C) Never be a vector  

(D) NOT  

39. tanିଵ ቀସ
଻
ቁ + tanିଵ ቀ ଷ

ଵଵ
ቁ is : 

(A)   గ
ସ
 

(B) ିగ
ସ

 

(C) 1  

(D) NOT    

40. Imaginary part of  ଷିଶ௜
଻ାସ௜

 is : 

(A)   ଶ
ହ
 

(B) ିଶ
ହ

 

(C) ଵ
ହ
  

(D) NOT    

41. Locus of |ݖ| < 1 is :  

(A)   ݔଶ + ଶݕ = 1 

(B) ݔଶ + ଶݕ > 1 

(C) ݔଶ + ଶݕ < 1  

(D) ݔ + ݕ < 1   

42. ௘೔೥ି௘ష೔೥

ଶ௜
 is equal to : 

(A)   cos  ݖ

(B) cos ℎݖ 

(C) sin   ݖ

(D) sin ℎݖ   
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43. If ݂(ݔ) is periodic function with period 2c then Fourier coefficient  ܽ଴ is :  

(A)   ଵ
ସ௖
∫ ௕ݔ݀ (ݔ)݂
௔  

(B) ଵ
ଷ௖
∫ ௕ݔ݀ (ݔ)݂
௔  

(C) ଵ
௖
∫ ௕ݔ݀ (ݔ)݂
௔  

(D) NOT    

44. ODE ௗ௬
ௗ௫

= ௫మା௬మ

௫௬
 is :  

(A)   Homogeneous ODE  

(B) Non homogeneous ODE  

(C) Linear in x  

(D) Linear in y  

45. Sequence < ଵ
௡

> is :  

(A)   Bounded above  

(B) Bounded below  

(C) Neither bounded above nor bounded below  

(D) Option (A) and (B) both  

46. Sequence < ܽ௡ > = < ݊ > has :  

(A)   Infinitely many terms  

(B) Finitely many terms  

(C) n terms  

(D) NOT  
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47. Sequence < ଵ
௡ାଵ

> converges to :  

(A)   1 

(B) 0 

(C) ∞  

(D) -1   

48. Sequence < ܽ_݊ >= {5, 5, 5, .........} i.e. ܽ௡ = 5  ∀  ݊ ∈ ܰ is :  

(A)   Constant sequence  

(B) Not bounded above  

(C) Not bounded below  

(D) Not bounded  

49. Complementary function for ODE (ܦଶ − ݕ(1 = 0, where ܦ ≡ ௗ
ௗ௫

 is :  

(A)   (ܿଵ + ܿଶݔ)݁௫ 

(B) ܿଵ݁௫ + ܿଶ݁ି௫ 

(C) ݁௫  

(D) ݁ି௫   

50. Complementary function for (ܦଶ + ݕ(1 = 0 is :  

(A)   ܿ ଵ cosݔ 

(B) ܿଶ sin  ݔ

(C) ܿଵ + ܿଶ cos   ݔ

(D) ܿଵ cosݔ + ܿଶ sin    ݔ
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51. In sequence < ܽ௡ >, where ܽ௡ = ଵ
௡
 least upper bound is :  

(A)   0 

(B) 1 

(C) 2  

(D) -1   

52. Sequence < 1 + ଵ
௡

> is :  

(A)   Bounded  

(B) Not bounded  

(C) Bounded above only  

(D) Bounded below only  

53. Sequence < 2 + ଻
௡ାହ

> converges to :  

(A)   7 

(B) 0 

(C) 5  

(D) 2   

54. If sequence, < ܽ௡ > is bounded above there exist a real number k s.t. : 

(A)   ܽ ௡ ≤ ݇, ∀  ݊ ∈ ܰ 

(B) ܽ௡ ≥ ݇,   ∀  ݊ ∈ ܰ 

(C) ܽ௡ < −݇, ∀  ݊ ∈ ܰ  

(D) NOT    

55. Series ∑  
ஶ

௡ୀଵ

ଵ
௡
 is : 

(A)   Convergent  

(B) Divergent  

(C) Oscillatory  

(D) NOT  



Series-A BCA-405 (N)/ K-376 Page - 14 

56. If series ∑  
ஶ

௡ୀଵ
ܽ௡ is convergent then :  

(A)   lim
௡→ஶ

ܽ௡ = 0 

(B) lim
௡→ஶ

ܽ௡ ≠ 0 

(C) lim
௡→ஶ

ܽ௡ = 1 

(D) lim
௡→ஶ

ܽ௡ = does not exist  

57. Series ∑  
ஶ

௡ୀଵ
cos ଵ

௡
 is :  

(A)   Convergent  

(B) Divergent  

(C) Oscillatory  

(D) NOT  

58. Series ∑  
ஶ

௡ୀ଴
 : ௡ is convergent ifݔ

(A)   |ݔ| = 1 

(B) |ݔ| > 1 

(C) |ݔ| < 1  

(D) ݔ = 1  

݌ .59 − series ∑  
ஶ

௡ୀଵ

ଵ
௡೛

 is divergent :  

(A)   ݌ = 2 

(B) ݌ = 3 

(C) ݌ = 4  

(D) ݌ = 0   
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60. ∑  
ஶ

௡ୀଵ

ଵ
௡ర

 is : 

(A)   Divergent series  
(B) Oscillatory series 
(C) Convergent series 
(D) NOT  

61. Field ⃗ܨ = ଓ̂ݕݔ2 + ଶݔ) + ଶ)ଔ̂ݖ + ݕݖ2 ෠݇ is : 

(A)   Solenoidal  

(B) Rotational  

(C) Irrotational  

(D) NOT  

62. Curl of a vector field ݂⃗(ݔ, ,ݕ (ݖ = ଶ݅ݔ + ݆ݖ2 −   : is ݇ݕ

(A)   −3݅ 

(B) −3݆ 

(C) −3݇ 

(D) 0 

63. If curl (vሬ⃗ ) = 0 then field vሬ⃗  is :   

(A)   Solenoidal  

(B) Rotational  

(C) Irrotational  

(D) NOT  

64. Particular integral for (ܦଶ + ݕ(1 = ݁ଶ௫ is : 

(A)  ଵ
ସ
݁ଶ௫  

(B) ଵ
ହ
݁ଶ௫ 

(C) ଵ
ଶ
݁ଶ௫   

(D) ଵ
଺
݁ଶ௫ 
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65. Particular Integral for (ܦଶ + ܦ2 + ݕ(1 = 0 is : 

(A)   ଵ
ଶ
 

(B) 0 

(C) 2 

(D) NOT    

66. Solution of (ܦଶ + ܦ5 + ݕ(4 = 0 is :  

(A)   ܿ ଵ݁௫ + ܿଶ݁ିସ௫ 

(B) ܿଵ݁ି௫ + ܿଶ݁ସ௫ 

(C) ܿଵ݁ି௫ + ܿଶ݁ିସ௫ 

(D) NOT    

67. ௗ௬
ௗ௫

= ௔௫ା௕௬ା௖
ௗ௫ା௘௬ା௙

 is transformed into linear ODE by taking ݔ = ܺ + ℎ, ݕ =  ܻ +  : if ܭ

(A)   ܽ ݁ − ܾ݀ = 0 

(B) ܽ݁ − ܾ݀ ≠ 0 

(C) ܽ݀ − ܾ݁ ≠ 0 

(D) ܽ݀ − ܾ݁ = 0   

68. Solution of  ௗ௬
ௗ௫

= ௫
௬
 is : 

(A)   ݕଶ = ଶݔ + ܿ 

(B) ݕଶ = ଶݔ− + ܿ 

(C) ݕ = ݔ + ܿ 

(D) ݕ = ݔ − ܿ   

ݕ .69 − ௗ௬ ݔ
ௗ௫

= ݔ + ௗ௬ ݕ
ௗ௫

 is :  

(A)   Homogeneous ODE of degree 2 

(B) Homogeneous ODE of degree 0 

(C) Homogeneous ODE of degree 1 

(D) Non homogeneous ODE  
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70. ௗ௬
ௗ௫

= (௫ା௬)ାଵ
ଶ(௫ା௬)ାଵ

 reduces to variable separable form if :  

(A)   ݔ − ݕ =  ݒ

(B) ݔ + ݕ =  ݒ

(C) ݔଶ + ଶݕ =  ݒ

(D) ݕݔ =    ݒ

71. Integrating factor in ODE ௗ௬
ௗ௫

+ ݕܽ = ݁௠௫ is :  

(A)   ݁ ௠௫ 

(B) ݁௫ 

(C) ݁௔ 

(D) ݁௔௫    

72. Particular integral for ݕ(ܦ)ܨ =   : is (ݔ)݂

(A)   ଵ
ி(஽)

 (ݔ)݂ 

(B) ଵ
ி(஽)

(ݔ)݂  + ܿ (ܿ ≠ 0) 

(C) ଵ
ி(஽)

(ݔ)݂  + 1  

(D) NOT   

73. Solution of ௗ
మ௬

ௗ௫మ
− ݕ = 0 is : 

(A)   ݕ = ܿଵ݁௫ + ܿଶ݁ି௫ 

(B) ݕ = ܿଵ݁௫ + ܿଶ݁௫ 

(C) ݕ = ܿଵ݁௫ 

(D) (ܿଵ + ܿଶݔ)݁௫   

74. Maximum value of directional derivative of ߶ = ଶݔ2 + ଶݕ3 +   : ଶ at (1, 1, -1) isݖ5

(A)   10 

(B) -4 

(C) √152  

(D) 152 
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75. Divergence of ⃗ݎ is : 

(A)   1 

(B) 0 

(C) 3  

(D) 4   

76.  sinିଵ ݔ + cosିଵ  : is ݔ

(A)   గ
ଶ
 

(B) ିగ
ଷ

 

(C) గ
ଷ
  

(D) NOT    

77. Solution of ݔ݀ ݔ − ݕ݀ ݕ = 0 is :  

(A)   ݔ = ݕ + ܿ 

(B) ݔଶ − ଶݕ = ܿ 

(C) ݔ − ݕ = ܿ 

(D) NOT  

78. ௗ௬
ௗ௫

+ ݕ2 =  : ଶ isݔ

(A)   Linear ODE in x  

(B) Linear in y  

(C) Linear in both variable x and y  

(D) NOT  

79. Degree of homogeneous ODE (ݔଶ − ݔ݀(ଶݕ + ݕ݀ ݕݔ3 = 0 is : 

(A)   1 

(B) 2 

(C) 0  

(D) NOT    
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80. ODE ݕ ௗ௬
ௗ௫

=  : is ݔ

(A)   Linear in y  

(B) Non Linear in y 

(C) Order of ODE is 2 

(D) Degree of ODE is 2 

81. Order of ODE ቀௗ௬
ௗ௫
ቁ
ଶ

+ ݕ = 0 is : 

(A)   1 

(B) 2 

(C) Not defined   

(D) NOT  

82. Integrating factor in linear ܱܧܦ ௗ௬
ௗ௫

+ ݕܲ = ܳ is :  

(A)   ∫  ݔ݀ ܲ
௘  

(B) ∫  ݕ݀ ܲ
௘  

(C) ∫  ݔ݀ ܲ
௘ + ܿ 

(D) ∫ ݕ݀ ܲ + ܿ 
௘  

83. Degree of ODE ቀௗ
మ௬

ௗ௫మ
ቁ
ଶ

+ ௗమ௬
ௗ௫మ

+ ݕ = 0 is :  

(A)   1 

(B) 2 

(C) 4  

(D) NOT    

,ݔ)݂ .84 (ݕ = ଶݔ + ଶݕ +   : is homogeneous function of degree ݕݔ

(A)  1 

(B) 0 

(C) 2  

(D) NOT    
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85. ୢ୷
ୢ୶

+ Py = Qy୬ (n ≠ 0, 1) is : 

(A)   Linear in y  

(B) Non Linear in x  

(C) Bernoulli equation  

(D) NOT  

86. ODE ݔ݀ ܯ + ݕ݀ ܰ = 0 is exact if :  

(A)   డெ
డ௬

= డே
డ௫

 

(B) డெ
డ௬

≠ డே
డ௫

 

(C) డெ
డ௫

= డே
డ௬

 

(D) డெ
డ௫
≠ డே

డ௬
 

87. ௗ௬
ௗ௫

+ ݕܲ =  : ௡ is linear ODE ifݕܳ

(A)   ݊ = 1 

(B) ݊ = 2 

(C) ݊ = 0 

(D) ݊ = −1 

88. In Fourier series of ݂(ݔ),   : is (ݔ)݂

(A)   Periodic  

(B) Non periodic  

(C) Discontinuous  

(D) Non differentiable   

89. In Fourier series, ܽ଴, ܽ௡, ܾ௡ are obtained by :  

(A)   Euler’s formula  

(B) Laplace formula 

(C) Taylor’s formula 

(D) Maclaurin’s formula 
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90. If ݂(ݔ) is periodic with period ߱ = 2݈ then Fourier coefficient :  

(A)   ܽ ଴ = ଵ
ସ௟
∫ ௕ݔ݀(ݔ)݂
௔  

(B) ܽ଴ = ଵ
௟
∫ ௕ݔ݀(ݔ)݂
௔  

(C) ܽ଴ = ସ
௟
∫ ௕ݔ݀(ݔ)݂
௔   

(D) NOT   

91. Argument value of ݖ = −1 − ݅ is : 

(A)   గ
ସ
 

(B) ିగ
ସ

 

(C) ିଷగ
ସ

  

(D) ଷగ
ସ

   

92. Modulus value of ݖ = ܽ + ܾ݅ is :  

(A)   ܽ ଶ + ܾଶ 

(B) √ܽଶ + ܾଶ 

(C) √ܽଶ − ܾଶ 

(D) ܽଶ − ܾଶ   

93. Sequence {3, 3, 3, 3, ..........} is : 

(A)   Bounded above only  

(B) Bounded below only  

(C) Bounded above and bounded below   

(D) Unbounded  

94. If sequence < ܽ௡ > is convergent then lim
௡→ஶ

ܽ௡ is : 

(A)   unique  

(B) Not unique  

(C) Always more than one limits  

(D) NOT 
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95. nth partial sum in the series ∑  
ஶ

௡ୀଵ
ܽ௡ is :   

(A)   ܽ ଵ + ܽଶ + ܽଷ +.........+ܽ௡ିଵ 
(B) ܽଵ + ܽଶ + ܽଷ +.........+ܽ௡ 
(C) ܽଵ + ܽଶ + ܽଷ +.........+ܽ௡ାଵ 
(D) ܽ଴ + ܽଵ + ܽଶ +.........+ܽ௡   

96. Sequence {1, -1, 1, -1, 1, -1, ..............} is   
(A)   Convergent  
(B) Divergent  
(C) Oscillatory  
(D) Not convergent  

97. Series ∑  
ஶ

௡ୀ଴
 : ௡ is oscillatory ifݔ

(A)   ݔ = 1 
(B) ݔ = −1 
(C) ݔ = 2 
(D) ݔ = 0 

98. Series ∑  
ஶ

௡ୀଵ
(−1)௡ is : 

(A)   Convergent  
(B) Divergent  
(C) Oscillatory  
(D) NOT  

99. Series ∑  
ஶ

௡ୀଵ
ቀଵ
௡
ቁ
ଶ଴ଶଶ

 is : 

(A)   Convergent  
(B) Divergent  
(C) Oscillatory 
(D) Oscillatory finitely    

100. If ݖ = −1 + ݅ then modulus amplitude form of z is : 

(A)   ݖ = √2 ݁൫ହగ ସൗ ൯௜ 

(B) ݖ = √2 ݁൫ିହగ ସൗ ൯௜ 
(C) ݖ = √2 ݁൫గ ସൗ ൯௜  
(D) ݖ = √2 ݁൫ିగ ସൗ ൯௜    

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the answer will be marked as wrong.   

3. Every question has same marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET). Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 


